CORRECTION NEEDED: apologies for the inconvenience, but we recently found a mistake in a value provided that requires correction as well as an extra sentence for explanation.
· Page 3, Column 2, Line 74: “0.00567” should be “0.014”
We needed to change this because we realized the model default value for k(OA) is 0.014, not 0.00567. Since these papers are sometimes used as references for ModelE parameters, we need to correct this to reflect what's actually in the model.

· Page 9, Table 2 Caption: “Simulations 1 and 2 are the two cases in which BrC is not explicitly represented, with 1 being the control case where no organics are brown and 2 being the current model default where all organics are slightly brown. Note, for this default case, we have adjusted the value of kOA from 0.014 to 0.00567 to be consistent with OA treatment in other models (Tsigaridis and Kanakidou, 2018).”
This sentence serves to explain why 0.00567 was used, rather than the previously mentioned model default of 0.014, for one of the control simulations. We had changed this value to be in line with other models/their treatments of OA (Table 1 of the cited paper shows almost all other models use a value close to 0.00567). The value was then mistakenly referred to as the ModelE default (hence the correction in TS1 and clarification here). We still refer to this simulation as "default" because we are referring to the model default of all organics being slightly brown.

